(3) A % #®

mhEHalE & o4l B & (ii;fﬁ SHE =iA %0 #
- L % R 74 74
i iR hivd [ E 27 4/3, 4 4/8 4/8
5 mlenEEE = 7l 472 3 1/4 1/4
= e e 69
BE x|gFrmglna % 24  4/2, 3 4/4 4/4
T B 8§ 2
T %
XERA L. EE 0T RROFBRERVEECHD.
(4) T £ H
xeEHElE w &l B % jjﬂ,;ff) S48 #iA %A #
X = |T =1uh37h 10 4/8, 9 4/10 4/10
7-+374 7 4/8, 9 4/10 4/10
(577 ol a8 9 4/10 4/10
it 27
=} B |E a1 T ®BEEIE 25 4/2, 3 4/4 4/5
I B |2 H I #|LEHE 21 4/1, 2 4/3 4/3
® ma | & T fleskn 28 42 3 1/ 1/
m 5 |h H T eakn 2% 42 3 1/4 1/4
= & T HlEs BT 242 3 1/4 15 |EE BT He - EE
5 [tEsTHE W 2] 473 4 1/5 15
= % | 7 T #leann B 43 4 1/5 1/5
X 20 o 204
T ERCEEL T ol 45 8 2770 2770
58 2| a5 s 4/10 4/10
£t 49
2 & B i 29
T ® ® i 753
XBER-RROL RO ERAED. BE B% - REOS A RERUEECHD.
(5) T % & (& {5 8)
xHEHElE & o4l B 4 jﬁg‘fﬂ S48 =iA %A #
x B |~ B T FlEETT 2 R 74 7
= & 8 o 77
XERA LR, R T REOTRERVEECHD.
(6) B % R
xeEHElE & o4l B4 (fjnjjf%w) S4B =iA %A #
@A ZEm = 7 B 78 78
A =m = %] 473 4 1/5 1/5
5 w2 EZe = 6| 472 3 1/ 1/5
FF = ¥|ERitE 19 4/8, 9 4/10 4/11
T 87
XERSER. R HE RROEHRERVEECHD,
(7) B & H
mhEHalE & o4l B & jjﬂ;‘,{i) S48 e %0 #
B B ks B E =|Ta- B 22 4/1, 2 4/3 4/3
% & B & 22
XERAER. R 8T RROEHRERVEECHD,
(8) E % H
xeEiale & &l B 4 (fjgff) S H =iA %0 #
O wm_ |E = 23] 4/10, 11 4712 4712
E % 7§ i 2
XERAER. R HT  RROEHRERVEECHD,
(0) 8 & % B (H f %)
xeEiale & &l B 4 (fjgff) S H =iA 550 #
= % BB Aleaen 43 4 75 7%
BAEX |BABKRA| AR 28 473 4 1/5 1/5
m & % B 5

XERTEE, BFE - BF - KEOFARERVEETH D,




